20.1
The magnetic flux through the area enclosed by the loop is



[image: image1.wmf](

)

(

)

(

)

2

222

coscos00.30 T0.25 m5.910 Tm

B

BABr

qpp

-

éù

F==°==´×

ëû


20.6
The magnetic field generated by the current in the solenoid is
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and the flux through each turn on the solenoid is
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20.9
From 
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20.10
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 EMBED Equation.DSMT4  [image: image8.wmf]34 mV


20.18
From 
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 EMBED Equation.DSMT4  [image: image11.wmf]1.00 ms


20.23
(a)
To oppose the motion of the magnet, the magnetic field generated by the induced current should be directed to the right along the axis of the coil. The current must then be 
[image: image12.wmf]left to right

 through the resistor.


(b)
The magnetic field produced by the current should be directed to the left along the axis of the coil, so the current must be 
[image: image13.wmf] right to left

 through the resistor.

20.37

[image: image14.wmf](

)

-32

av

1.50 A0.20 A

3.0010 H2.010 V20 mV

0.20 s

I

L

t

-

D-

æö

==´=´=

ç÷

D

èø

E


20.44
The current in the RL circuit at time t is 
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, and from Kirchhoff’s loop rule, the potential difference across the inductor is
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(b)
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